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solving the above eqn for ✗ 1 some long computation )
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Substitute ✗ It ) in ⑥ , we have
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4.2 The Method of Elimination  

The method of elimination for linear differential systems is similar to the solution of a linear system 
of algebraic equations by a process of eliminating the unknowns one at a time until only a single 
equation with a single unknown remains.

Example 1 Find a general solution of the linear system. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

{
✗ +y=o⇒y= - ✗
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ANS : From 0, we have
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Example 2 Find a general solution of the linear system.
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ANS : From 0
,
we have
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yet /= I C, cost + § Cash 21--2↳ cos3T -2cg sin 3T .



 

Example 3 Find a general solution of the linear system.

 

 

 

 

 

 

 

 

 

 

 

Or ②

ANS : From 0 , we have
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